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boxplotl <- function() {
#E 7 AU & 2 FHRX
oldpar <- par(no.readonly = TRUE) # BIfED T T 7 1w 7 AT X — & RikE
on.exit(par(oldpar)) # (BIHN=T7—lrL TH) K THHTINNT A —Z G )7
data(InsectSprays) # 7 — & pi/ A
png("boxplotl.png") # png 7 /31 AZ&H<
boxplot(count ~ spray, data = InsectSprays, col = "lightgray")
boxplot(count ~ spray, data = InsectSprays,
notch = TRUE, add = TRUE, col = "blue")
dev.off() # 7 A X&PL D
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2.2 FEHEFHIZEHHEZEERESDHEZXRNTMNZRS

boxplot2 <- function() {
oldpar <- par(no.readonly = TRUE) # HIfED T T 7 1w 7 AT A — K &kt
on.exit(par(oldpar)) # (N7 —HlrL TH) & TEIZ/T A= 1EIF
data(OrchardSprays) # 7 — & ait A iA A
png("boxplot2.png") # png 7 /N1 A% HH<
# FAZU Gt o055 H e)
# R OIEARNTGTHRILY H L OO ZHL o (ZAHE
rb <- boxplot(decrease ~ treatment, log="y", data = OrchardSprays,
col="bisque")
title("Comparing boxplot()s and non-robust mean +/- SD")
# /70y 7 ONRE LIEERED T FAGHE
mn.t <- tapply(OrchardSprays$decrease, OrchardSprays$treatment, mean)
sd.t <- tapply(OrchardSprays$decrease, OrchardSprays$treatment, sd)
# FOTLD x JEEE
xi <= 0.3 + seq(rb$n)
# FEMEER T 7y b
points(xi, mn.t, col = "orange", pch = 18)
# PEE AR AR 22 O #IPA 2 KRHI TR
arrows(xi, mn.t - sd.t, xi, mn.t + sd.t,
code = 3, col = "pink", angle = 75, length = .1)
dev.off() # 7 A X &L D
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Compar ing boxplot()s and non—robust mean +/- SD
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2.3 T Z#TICFEERFH<

boxplot3 <- function() {
oldpar <- par(no.readonly = TRUE) # BIED T T 7 (v 7 AT A — &Rk
on.exit(par(oldpar)) # (BN T —lrL TH) K THHT/NNT A —Z G )7
## FFEOAIC K D Z N 100 8 O BLLEL S & W~ 7175
mat <- cbind(Uni05 = (1:100)/21, Norm = rnorm(100),
T5 = rt(100, df = 5), Gam2 = rgamma(100, shape = 2))

png("boxplot3.png") # png 7 /N1 A% H<
boxplot(data.frame(mat), main = "boxplot(data.frame(mat), main = ...)")
par (las=1) # 7~ /L 2T X TKFEIZ
boxplot(data.frame(mat), main = "boxplot(*, horizontal = TRUE)",

horizontal = TRUE)
dev.off() # 7314 A%ZFAL %
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boxplot(data. frame(mat), main = ...) boxplot(*, horizontal = TRUE)
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2.4 AT 3 cat =’ OFERE

boxplot4d <- function() {
data(ToothGrowth) # 7 — & FiAriAdr
## FAOHOIEZ at THIE
## VC ZHXTHERTZ T2 ETH (7 a2 subset= supp == "VC")
png("boxplot4.png") # png T /31 AZ&H<
boxplot(len ~ dose, data = ToothGrowth,
boxwex = 0.25, at = 1:3 - 0.2,
subset= supp == "VC", col="yellow",
main="Guinea Pigs’ Tooth Growth",
xlab="Vitamin C dose mg",
ylab="tooth length", ylim=c(0,35))
## 47> =3 add=TRUE CHIMEIEE
# AL VY a— A5 ERERAERICHIK (A7 3 subset = supp == "0J")
boxplot(len ~ dose, data = ToothGrowth, add = TRUE,
boxwex = 0.25, at = 1:3 + 0.2,

subset= supp == "0J", col="orange")
## FLBIZINZ %
legend(2, 9, c("Ascorbic acid", "Orange juice"),

fill = c("yellow", "orange"))
dev.off() # T XA A&ZFAL D
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R ZEDISERIZHE S (Statistiques avec R & Y. 2004.3.4)

BEFICZ 770y hET, E993T5LEZ 50NV EZENDIT 5D,
T 5 & I layout PIBCTIEXIGEZ 4 nEFIL, £D 5 HD 3D

T IZWE, TEE
EIZARK, y 7 — & OFH

data(cars)

op <- par()

layout( matrix( c(2,1,0,3),
par (mar=c(1,1,5,2))
plot(cars$dist ~
rug(side=1, jitter(cars$speed, 5) )
rug(side=2, jitter(cars$dist, 20) )
title(main = "cars data")

par (mar=c(1,2,5,1)) # ZOfEWERTZ
boxplot(cars$dist, axes=F)
title(ylab=’Stopping distance (ft)’,

par (mar=c(5,1,1,2)) # [AIU< x #D FIZ

boxplot(cars$speed, horizontal=T, axes=F)

title(xlab=’Speed (mph)’,
par (op)

line=1)

2, 2, byrow=T ),

cars$speed, xlab=’’, ylab=’’,

c(1,6), c(4,1),)

las = 1)
"\ boxplot ZiE < H

HAEEELTWD

line=0) # T OMEIBIZHX A "M A EL LK
boxplot Z & fHAIEEL TW5
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Stopping distance (ft)
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